
Trigonometry – Sine Rule

In triangle ABC,
𝐴𝐵 = 7.6 𝑐𝑚
𝐵𝐶 = 4.3 𝑐𝑚

Angle 𝐴𝐶𝐵 = 74𝑜

Calculate the size of the angle 𝐵𝐴𝐶. 
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8𝑐𝑚

Given that 𝑃𝑄 is parallel to 𝑆𝑇, 
calculate the length of 𝑃𝑄.

Calculate 𝑥.

37𝑜

84𝑜

𝑥
9.4 𝑐𝑚

What is the sine rule for finding a missing length?

What is the sine rule for finding a missing angle?

Calculate the size of angle PQR. 

Work out the length of BC. 

12 𝑐𝑚
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C
67𝑜
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9 𝑐𝑚

Q
R

81𝑜

P

6 𝑐𝑚

8.7𝑐𝑚



Trigonometry – Sine Rule
Answers

In triangle ABC,
𝐴𝐵 = 7.6 𝑐𝑚
𝐵𝐶 = 4.3 𝑐𝑚

Angle 𝐴𝐶𝐵 = 74𝑜

Calculate the size of the angle 𝐵𝐴𝐶. 
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Given that 𝑃𝑄 is parallel to 𝑆𝑇, calculate 
the length of 𝑃𝑄.

Calculate 𝑥.

37𝑜

84𝑜

𝑥
9.4 𝑐𝑚

What is the sine rule for finding a missing length?

What is the sine rule for finding a missing angle?

Calculate the size of angle PQR. 

Work out the length of BC. 

12 𝑐𝑚

B

C
67𝑜

A

28𝑜

9 𝑐𝑚

Q
R

81𝑜

P

6 𝑐𝑚

𝑎

sin 𝐴
=

𝑏

sin𝐵
=

𝑐

sin 𝐶

sin 𝐴

𝑎
=
sin𝐵

𝑏
=
sin𝐶

𝑐

𝑦 =
9.4

sin 37
× sin 84

y = 15.5338… 𝑐𝑚

sin 𝐴

6
=
sin 81

9

sin𝐴 =
6 sin 81

9
𝐴 = sin−1(0.6584… )
𝐴 = 41.2𝑜

𝐷𝑟𝑎𝑤 𝑖𝑡 𝑜𝑢𝑡

sin 𝐴

4.3
=
sin 74

7.6

sin 𝐴 =
4.3 sin 74

7.6
𝐴 = sin−1(0.54387… )
𝐴 = 32.9𝑜

8.7𝑐𝑚

𝑦

𝑎

sin 28
=

12

sin 67

𝑎 =
12

sin 67
× sin 28

𝑎 = 6.12 𝑐𝑚

𝑥 = 15.5338… 2 − 8.72

𝑥 = 165.6105…
𝑥 = 12.87𝑐𝑚

Angles in a triangle 
equal 180𝑜. Vertically opposite 

angles are the same.

Alternate angles 
𝑄𝑃𝑇 = 𝑆𝑇𝑃 𝑆𝑄𝑃 = 𝑄𝑆𝑇

65𝑜
45𝑜

70𝑜

70𝑜

𝑃𝑄

sin 70
=

8

sin 45

PQ =
8

sin 45
× sin 70

𝑃𝑄 = 10.63 𝑐𝑚


